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ÍÛæ̃ Û¶ÛÛ : (1) ›÷¾Û¨Ûà ¼ÛÛ›ä÷¶ÛÛ …×ïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä̈ Û þùÉÛÛÙÈÛé ™öé.  
  (2) ›÷ÄõÁõà •Û¨Û©ÛÁõà ›÷ÈÛÛ¼Û¶ÛÛ ½ÛÛ•ÛÄõ¸Ûé þùÉÛÛÙÈÛÛé.  
  (3) ¸ÛóÊ¶Û¶ÛÛ ¾Ûä°ùÛÍÛÁõ ›÷ÈÛÛ¼Û …Û¸ÛÛé.  
 

1. ¸Ûè¬ÈÛà ¤Öéø¦øá•Û ï×õ¸Û¶Ûà ÜÅÛ.¶Ûä× ©ÛÛ. 31-03-2014 ¶ÛÛ ÁõÛé›÷¶Ûä× ¸ÛÛïä×õ ÍÛÁõÈÛíéýÛä× ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé : 12 

¾Ûæ¦øà-þéùÈÛÛ× `̀̀̀ Ü¾ÛÅÛïõ©Û-ÅÛé̈ ÛÛ× `̀̀̀ 

½ÛÁõ¸ÛÛˆ ¬ÛýÛéÅÛà ¾Ûæ¦øà :  ¸ÛÛ–Û¦øà  2,25,000 

7500 ÉÛéÁõ, þùÁéõïõ ` 100 ¶ÛÛ× ¸Ûæ̈ ÛÙ 
½ÛÁõ¸ÛÛˆ 

        

7,50,000 

›÷¾Ûà¶Û-¾ÛïõÛ¶Û 
¸ÅÛÛ×¤ø-¾ÛÉÛà¶ÛÁõà 

 1,80,000 

3,00,000 

¼Ûêïõ …ÛéÈÛÁõ¦ÖøÛ¹¤ø 1,74,000 Í¤øÛéïõ  3,00,000 

ÅÛé̈ ÛþùÛÁõÛé 2,71,500 þéùÈÛÛþùÛÁõÛé 3,00,000  

ïõÁõÈÛéÁõÛ¶Ûà ›Ûé•ÛÈÛÛˆ 58,500 ¼ÛÛþù : –ÛÛ. …¶ÛÛ¾Û©Û 30,000 2,70,000 

¶Û.¶Ûä. ºõÛÇÈÛ¨Ûà ”ÛÛ©Ûé   1,71,000 ¼Ûêïõ ÜÍÛÅÛïõ   1,50,000 

 14,25,000   14,25,000 

 ÈÛµÛÛÁõÛ¶Ûà ¾ÛÛÜÐü©Ûà : 
 (1) ï×õ¸Û¶Ûà¶ÛÛé µÛ×µÛÛé ` 7,50,000 ¶Ûà ½ÛÁõ¸ÛÛˆ ¬ÛýÛéÅÛà ¾Ûæ¦øà¬Ûà 30¾Ûà ›æ÷¶Û, 1989 ¶ÛÛ ÁõÛé›÷ ÉÛÄõ ïõýÛÛë 

Ðü©ÛÛé.  
 (2) ™öéÅÅÛÛ ¸ÛÛ×̃ Û ÈÛÌÛÙ þùÁõÜ¾ÛýÛÛ¶Û ïõÁõÈÛéÁõÛ¶Ûà ›Ûé•ÛÈÛÛˆ ïõýÛÛÙ ¸ÛÐéüÅÛÛ×¶ÛÛé ¶ÛºõÛé-¶ÛäïõÍÛÛ¶Û ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé Ðü©ÛÛ : 

ÈÛÌÛÙ `̀̀̀  

2009-10 60,000 (¶ÛäïõÍÛÛ¶Û) 
2010-11 1,84,500 (¶ÛºõÛé) 
2011-12 1,95,000 (¶ÛºõÛé) 
2012-13 1,32,000 (¶ÛºõÛé) 
2013-14 1,74,000 (¶ÛºõÛé) 

  (…) 2008-09 ¶ÛÛ ÈÛÌÛÙ þùÁõÜ¾ÛýÛÛ¶Û ï×õ¸Û¶Ûà¾ÛÛ× ÅÛÛ×¼ÛÛé ÍÛ¾ÛýÛ ÐüÇ©ÛÛÇ Ðü©Ûà. 
  (¼Û) …ÛÈÛïõÈÛéÁõÛé 50% ¶ÛÛ þùÁéõ ˜ÛæïõÈÛÈÛÛé ¸Û¦éø ©Ûé¾Û ™öé.  
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 (3) ÁõÛéïõÛýÛéÅÛà ¾Ûæ¦øà ¸ÛÁõ …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ 10% •Û¨ÛÛýÛ ©Ûé¾Û ™öé.  

 (4) ›÷¾Ûà¶Û-¾ÛïõÛ¶Û¶Ûà ÐüÛÅÛ¶Ûà ¼Û›ÛÁõ Ýïõ¾Û©Û ` 3,60,000 ™öé. …Û Ýïõ¾Û©Û¶ÛÛ …ÛµÛÛÁéõ ©Û¾ÛÛÁéõ –ÛÍÛÛÁõÛé  
` 30,000 µýÛÛ¶Û¾ÛÛ× ÅÛéÈÛÛé ¸Û¦øÉÛé.  

 (5) ÐüÈÛé ¸Û™öà¶ÛÛ ¸ÛÛ×̃ Û ÈÛÌÛÙ þùÁõÜ¾ÛýÛÛ¶Û ï×õ¸Û¶Ûà¶Ûé ¬ÛýÛéÅÛ ïõÁõÛÁõ …¶ÛäÍÛÛÁõ ¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û ”Û˜ÛÙ ` 90,000 

ÈÛÛÜÌÛÙïõ ¼Û˜Û©Û ¬ÛÛýÛ ©Ûé¾Û ™öé.  

 Š¸ÛÁõ¶Ûà ÜÈÛ•Û©ÛÛé¶Ûé µýÛÛ¶Û¾ÛÛ× ÅÛˆ¶Ûé ©Û¾ÛÛÁéõ ï×õ¸Û¶Ûà¶Ûà ¸ÛÛ–Û¦øà¶Ûà Ýïõ¾Û©Û ©Ûé¶ÛÛ …ÜµÛïõ ¶ÛºõÛ¶Ûà ªÛ¨Û ÈÛÌÛÙ¶Ûà 
”ÛÁõàþùà¶Ûé …ÛµÛÛÁéõ •Û¨ÛÈÛÛ¶Ûà ™öé.  

…¬ÛÈÛÛ 

1. ›÷ÅÛ ÜÅÛÜ¾Û¤éø¦ø ï×õ¸Û¶Ûà¶Ûä× ©ÛÛ. 31-03-2014 ¶ÛÛ ÁõÛé›÷¶Ûä× ¸ÛÛïä×õ ÍÛÁõÈÛíéýÛä× ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 12 

þéùÈÛÛ× `̀̀̀ Ü¾ÛÅÛïõõ©ÛÛé `̀̀̀ 

ÉÛéÁõ¾Ûæ¦øà:  ¸ÛÛ–Û¦øà 65,000 

(A) ` 100¶ÛÛé …éïõ …éÈÛÛ 2,000 ˆÜîÈÛ¤øà 
ÉÛéÁõÛé ¸ÛæÁõÛ ½ÛÁõÛýÛéÅÛÛ× 

   

2,00,000 

¾ÛïõÛ¶Û 

ýÛ×ªÛÛé 

80,000 

1,00,000 

(B) ` 100¶ÛÛé …éïõ …éÈÛÛ 2,000 ˆÜîÈÛ¤øà 
ÉÛéÁõ, ÉÛéÁõþùà¥ø ` 80 ½ÛÁõ¸ÛÛˆ 

      

1,60,000 

Í¤øÛéïõ 

þéùÈÛÛþùÛÁõÛé 

2,00,000 

1,50,000 

(C) 1,000 ˆÜîÈÛ¤øà ÉÛéÁõ þùÁéõïõ ` 100¶ÛÛé 
ÉÛéÁõþùà¥ø ` 60 ½ÛÁõ¸ÛÛˆ 

   

60,000 

ÁõÛéïõ¦ø 

…•ÛÛŠ ˜ÛæïõÈÛéÅÛ ÈÛà¾ÛÛé 

18,000 

2,500 

 ÍÛÛ¾ÛÛ¶ýÛ …¶ÛÛ¾Û©Û  70,000 ¸ÛóÛ¬ÛÜ¾Ûïõ ”Û˜ÛÛÙ 4,500 

 ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä× 30,000   

 ÅÛé̈ ÛþùÛÁõÛé 50,000   

 ¼Ûêïõ …ÛéÈÛÁõ¦ÖøÛ¹¤ø 15,000   

 ˜ÛæïõÈÛÈÛÛ¶ÛÛé ¼ÛÛïõà ”Û˜ÛÙ  10,000   

 –ÛÍÛÛÁõÛ ½Û×¦øÛéÇ :    

           ¾ÛïõÛ¶Û    5,000    

           ýÛ×ªÛÛé  20,000 25,000   

    

 6,20,000  6,20,000 

 ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà¶Ûé µýÛÛ¶Û¾ÛÛ× ÅÛˆ¶Ûé þùÁéõïõ ¸ÛóïõÛÁõ¶ÛÛ ˆÜîÈÛ¤øà ÉÛéÁõ¶Ûà Ýïõ¾Û©Û ˜ÛÛé””Ûà Ü¾ÛÅÛïõ©Û¶Ûà ¸Û±ùÜ©Û 
³ùÛÁõÛ ÉÛÛéµÛÛé :  

 (1) ï×õ¸Û¶Ûà¶Ûà ¸ÛÛ–Û¦øà¶Ûà Ýïõ¾Û©Û ` 80,000 …Û×ïõÈÛÛ¾ÛÛ× …ÛÈÛà.  

 (2) ` 10,000 ÜÍÛÈÛÛýÛ¶ÛÛ ¼ÛÛïõà¶ÛÛ þéùÈÛÛþùÛÁõÛé ÍÛµµÛÁõ ™öé.  

 (3) ÁõÛéïõÛýÛéÅÛà ¾Ûæ¦øà ¸ÛÁõ …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ 10% ™öé.  
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 (4) ï×õ¸Û¶Ûà¶ÛÛ ™öéÅÅÛÛ 3 ÈÛÌÛÙ¶ÛÛé ˜ÛÛé””ÛÛé ¶ÛºõÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

ÈÛÌÛÙ 2011-12 2012-13 2013-14 

`̀̀̀ 1,00,000 1,30,000 1,20,500 

  ¶ÛºõÛ ¸Ûíéïõà 20% þùÁõ ÈÛÌÛë ÍÛÛ¾ÛÛ¶ýÛ …¶ÛÛ¾Û©Û ”ÛÛ©Ûé ÅÛˆ ›÷ÈÛÛ¾ÛÛ× …ÛÈÛé ™öé.  

 (5) ¾ÛïõÛ¶Û¶Ûà Ýïõ¾Û©Û ` 1,00,000 •Û¨ÛÈÛÛ¾ÛÛ× …ÛÈÛà ™öé.  

 (6) ` 25,500 ¶ÛÛé ï×õ¸Û¶Ûà ÍÛÛ¾Ûé¶ÛÛé þùÛÈÛÛé ¾Û×›æ÷Áõ ÁõÛ”ÛÈÛÛ¾ÛÛ× …ÛÈýÛÛé ™öé.  

 

2. ÈÛÛýÛä ÜÅÛÜ¾Û¤éø¦ø¶Ûä× ©ÛÛ. 31-3-2014 ¶ÛÛ ÁõÛé›÷ ÍÈÛíéÜ˜™öïõ ÜÈÛÍÛ›÷Ù¶Û ¬ÛýÛä× ©Ûé ©ÛÛÁõà”Ûé ï×õ¸Û¶Ûà¶Ûä× ¸ÛÛïä×õ ÍÛÁõÈÛíéýÛä× 
¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé Ðü©Ûä× :  12 

þéùÈÛÛ×     `̀̀̀ Ü¾ÛÅÛïõ©ÛÛé `̀̀̀ 

15% ¶ÛÛ 2000  ¸ÛóéºõÁõ¶ÍÛ ÉÛéÁõ,  

þùÁéõïõ ` 100 ¶ÛÛ× 

    

2,00,000 

›÷¾Ûà¶Û-¾ÛïõÛ¶Û 

¸ÅÛÛ×¤ø …¶Ûé ¾ÛÉÛà¶ÛÁõà 

3,00,000 

2,30,000 

(…) 1000 ˆÜîÈÛ¤øà ÉÛéÁõ þùÁéõïõ  
` 100 ¶ÛÛé ¸ÛæÁõÛ ½ÛÁõ¸ÛÛˆ 

    

1,00,000 

ÁõÛéïõÛ¨ÛÛé 

Í¤øÛéïõ 

70,000 

30,000 

(¼Û) 2000 ˆÜîÈÛ¤øà ÉÛéÁõ þùÁéõïõ  
` 100 ¶ÛÛé ÉÛéÁõþùà¥ø ` 50  

½ÛÁõ¸ÛÛˆ 

      

 

1,00,000 

þéùÈÛÛþùÛÁõÛé 

ÁõÛéïõ¦ø ÐüÛ¬Û ¸ÛÁõ  

¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä× 

50,000 

10,000 

1,10,000 

(ïõ) 3000 ˆÜîÈÛ¤øà ÉÛéÁõ þùÁéõïõ  
` 100 ¶ÛÛé ÉÛéÁõþùà¥ø ` 40  

½ÛÁõ¸ÛÛˆ ¬ÛýÛéÅÛ 

      

 

1,20,000 

   

¼ÛÛþù : ¼ÛÛïõà Ðü̧ ©ÛÛ ÉÛéÁõþùà¥ø ` 10     10,000    

1,10,000 

  

15% ¶ÛÛ Ü¦ø¼Ûễ ÛÍÛÙ  2,00,000   

Ü¦ø¼Ûễ ÛÍÛÙ¶Ûä× ¼ÛÛïõà ÈýÛÛ›÷  15,000   

¸ÛóÛéÜÈÛ¦ø¶¤øø º×õ¦ø   15,000   

ªÛ¨Û ïõÛÁõïæõ¶ÛÛé¶ÛÛé ªÛ¨Û ¾ÛÛÍÛ¶ÛÛé 
¼ÛÛïõà ¸Û•ÛÛÁõ 

        

4,500 

  

…ÛÈÛïõÈÛéÁõÛé ˜ÛæïõÈÛÈÛÛ¶ÛÛé ¼ÛÛïõà :     

 2013 – 14 2,000    

 2012 – 13 3,500 5,500   

ÅÛé̈ ÛþùÛÁõÛé  35,000   

þéùÈÛàÐæ×ü¦øà…Ûé  15,000   

  8,00,000  8,00,000 
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 (1) Ü¾ÛÅÛïõ©ÛÛé¶ÛÛ Š¸ÛšýÛÛ× : 

›÷¾Ûà¶Û-¾ÛïõÛ¶Û ¸ÅÛÛ×¤ø-¾ÛÉÛà¶ÛÁõà ÁõÛéïõÛ¨ÛÛé Í¤øÛéïõ þéùÈÛÛþùÛÁõÛé 

` 2,50,000 ` 1,35,000 ` 50,000 ` 25,000 ` 40,000 

 (2) ÜÅÛîÈÛà¦éøÉÛ¶Û ”Û˜ÛÙ ` 5,000 ¬ÛýÛÛé. ÜÅÛîÈÛà¦éø¤øÁõ¶Ûä× ¾ÛÐéü¶Û©ÛÛ¨Ûä× Ü¾ÛÅÛïõ©ÛÛé¶Ûà Š¸Û›÷¶ÛÛ 4% ÅÛé”Ûé …¶Ûé 

Ü¼Û¶ÛÍÛÅÛÛ¾Û©Û ÅÛé̈ ÛþùÛÁõÛé¶Ûé ˜ÛæïõÈÛéÅÛ Áõïõ¾Û¶ÛÛ 2% ¸Ûó¾ÛÛ¨Ûé •Û¨ÛÈÛÛ¶Ûä× ™öé.  

 (3) ‘ïõ’ ˆÜîÈÛ¤øà ÉÛéÁõ ¸ÛÁõ ¼ÛÛïõà Ðü¸Û©ÛÛ¶Ûà Áõïõ¾Û ÈÛÍÛæÅÛ ¬Ûˆ ™öé.  

 (4) ¼ÛµÛà ˜ÛæïõÈÛ¨Ûà ©ÛÛ. 30-06-2014 ¶ÛÛ ÁõÛé›÷ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ ™öé.  

 ÜÅÛîÈÛà¦éø¤øÁõ¶Ûä× ™öéÈÛ¤ø¶Ûä× …ÛÈÛïõ-›ÛÈÛïõ¶Ûä× ¸ÛªÛïõ ©ÛíéýÛÛÁ ïõÁõÛé.  

…¬ÛÈÛÛ 

2. (…) …ÛïõÛÉÛ ïõÛé¾ÛÍÛâýÛÅÛ ¼Ûêïõ ÜÅÛÜ¾Û¤éø¦éø ©ÛÛ. 01-01-2014 ¶ÛÛ ÁõÛé›÷ …éïõ •ÛóÛÐüïõ¶Ûà ` 60,000 ¶Ûà …éïõ 

Ðæ×ü¦øà ïéõ ›÷é ˜ÛÛÁõ ¾ÛÛÍÛ¶Ûà ¾Ûäþù©Û¶Ûà Ðü©Ûà ©Ûé ÈÛ¤øÛÈÛà. ¼Ûêïéõ ÈÛÛÜÌÛÙïõ 15% ÅÛé”Ûé ÈÛ¤øÛÈÛ ÈÛÍÛæÅÛ ïõýÛÛë. 

2013-14 ¶ÛÛ ÈÛÌÛÙ¶Ûà ÈýÛÛ›÷ …¶Ûé ÈÛ¤øÛÈÛ¶Ûà …ÛÈÛïõ ` 35,85,850 ¬Ûˆ Ðü©Ûà.   

  Š¸ÛÁõ þùÉÛÛÙÈÛéÅÛ ÈýÛÈÛÐüÛÁõÛé¶Ûà …ÍÛÁõ …Û¸ÛÈÛÛ ¾ÛÛ¤éø ¶Ûà˜Ûé¶Ûà ©ÛÛÁõà”ÛÛé…é ¼Ûêïõ¶ÛÛ ˜ÛÛȩ́ Û¦øÛ¾ÛÛ× …Û¾Û¶ÛÛêµÛÛé 

ÅÛ”ÛÛé : 

  (1) Ðæ×ü¦øà ÈÛ¤øÛÈýÛÛ ©ÛÛÁõà”Ûé 

  (2) ¸ÛÛïõÛ ÍÛÁõÈÛíéýÛÛ¶Ûà ©ÛÛÁõà”Ûé 

  (3) Ðæ×ü¦øà¶ÛÛ ¶ÛÛ¨ÛÛ× ÈÛÍÛæÅÛ …ÛÈýÛÛ¶Ûà ©ÛÛÁõà”Ûé  6 

 

 (¼Û) µÛà µÛÁõ©Ûà ˆÅÛéî¤Öøàïõ ï×õ¸Û¶Ûà ÜÅÛÜ¾Û¤éø¦éø ¸ÛÛé©ÛÛ¶ÛÛ ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛé …éïõ ½ÛÛ•Û ` 6,00,000 ”Û˜Ûâ ºõÁõà 

¼ÛÛ×µýÛÛé. ©ÛÛé¦øà ¸ÛÛ¦éøÅÛÛ ›æ÷¶ÛÛ ½ÛÛ•Û¶Ûà ¾ÛæÇ Ýïõ¾Û©Û ` 3,75,000 Ðü©Ûà. ÐüÛÅÛ¾ÛÛ× ¾Û›æ÷Áõà …¶Ûé 

¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶Ûà Ýïõ¾Û©Û ¾ÛæÇ ¼ÛÛ×µÛïõÛ¾Û¶Ûà Ýïõ¾Û©Û ïõÁõ©ÛÛ× …¶Ûä’õ¾Ûé 10% …¶Ûé 20% ÈÛµÛÛÁéõ ™öé. 

¸ÛÐéüÅÛÛ× …¶Ûé …©ýÛÛÁéõ ¾Û›æ÷Áõà-¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ÈÛ˜˜Ûé ¸Ûó¾ÛÛ¨Û 3 : 2 ™öé. ›æ÷¶ÛÛ ÍÛÛ¾ÛÛ¶Û¶ÛÛ ÈÛé̃ ÛÛ¨Û¾ÛÛ×¬Ûà  

` 45,000 Š¸ÛšýÛÛ ™öé. ` 22,500 ¶Ûà Ýïõ¾Û©Û¶ÛÛé ›æ÷¶ÛÛé ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ¶ÛÈÛÛ ¼ÛÛ×µÛïõÛ¾Û¾ÛÛ× ÈÛÛ¸ÛýÛÛë ™öé 

…¶Ûé ©Ûé¶ÛÛé Š¸ÛÁõ þùÉÛÛÙÈÛéÅÛ ` 6,00,000 ¶Ûà Ýïõ¾Û©Û¾ÛÛ× ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ ™öé.  

  Š¸ÛÁõ¶ÛÛ ÈýÛÈÛÐüÛÁõÛé¶Ûà …Û¾Û¶ÛÛêµÛ ï×õ¸Û¶Ûà¶ÛÛ ˜ÛÛȩ́ Û¦øÛ¾ÛÛ× ÅÛ”ÛÛé. ›÷ÄõÁõà •Û¨Û©ÛÁõà þùÉÛÛÙÈÛÛé. 6  
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3. …Ü•¶Û ˆÅÛéî¤Öøàïõ ÍÛ¸ÅÛÛýÛ ï×õ¸Û¶Ûà¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ©ÛÛ. 31-03-2014 ¶ÛÛ ÁõÛé›÷¶Ûä× Ü³ùÅÛé”ÛÛ ¸Û±ùÜ©Û 

…¶ÛäÍÛÛÁõ ¾Ûæ¦øà”ÛÛ©Ûä× …¶Ûé ÍÛÛ¾ÛÛ¶ýÛ ¸ÛÛïä×õ ÍÛÁõÈÛíéýÛä× ¼Û¶ÛÛÈÛÛé.  12 

ÜÈÛ•Û©Û `̀̀̀ ÜÈÛ•Û©Û `̀̀̀ 

ÍÛ«ÛÛÈÛÛÁõ ¬ÛÛ¸Û¨Û 9,00,000 ©ÛÛ. 31-3-2014 ÍÛäµÛà¶ÛÛ ”Û˜ÛÛÙ  

½ÛÁõÛýÛéÅÛà ¬ÛÛ¸Û¨Û 7,80,000 ›÷¾Ûà¶Û 36,000 

12% ¶ÛÛ ¦øà¼Ûễ ÛÍÛÙ  1,20,000 * ¾Ûé̂ ¶ÍÛ …¶Ûé ¤ÖøÛ¶ÍÛºõÛé¾ÛÙÍÛÙ 4,05,000 

µÛ×µÛÛ¶ÛÛ ÅÛé̈ ÛþùÛÁõ 48,000 * ýÛ×ªÛÛé 1,20,000 

…¶ÛÛ¾Û©Û º×õ¦ø  45,000 * ¾ÛïõÛ¶ÛÛé 39,000 

µÛ×µÛÛ¶ÛÛ þéùÈÛÛþùÛÁõ  1,14,000   

ÁõÛéïõ¦ø …¶Ûé ¼Ûêïõ ÜÍÛÅÛïõ  1,03,000   

…¶ÛÛ¾Û©Û¶ÛÛ ÁõÛéïõÛ¨ÛÛé 45,000   

Í¤øÛéïõ 74,000   

 ©ÛÛ. 31-03-2014 ¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ× ÈÛÌÛÙ þùÁõÜ¾ÛýÛÛ¶Û Š¸ÛÁõ¶Ûà ™öéÅÅÛà ªÛ¨Û ÜÈÛ•Û©ÛÛé …×•Ûé (*) …¶Ûä’õ¾Ûé 

` 75,000,  ` 75,000 …¶Ûé  ` 30,000 ”Û˜ÛÙÈÛÛ¾ÛÛ× …ÛÈýÛÛ ™öé …¶Ûé ` 75,000 ¶Ûä× ¶ÛÈÛà¶ÛàïõÁõ¨Û ½Û×¦øÛéÇ 

Œ½Ûä× ïõÁõÈÛÛ¾ÛÛ× …ÛÈýÛä× Ðü©Ûä×. ©ÛºõÛÈÛ©Û¶Ûà Áõïõ¾Û¶Ûé ï×õ¸Û¶Ûà¶ÛÛé ¶ÛºõÛé •Û¨ÛÈÛÛ¶ÛÛé ™öé.  

…¬ÛÈÛÛ 

3. ›÷ÈÛÛ¼Û …Û¸ÛÛé : (ïõÛé̂ ¸Û¨Û ¼Ûé) 12 

 (…) ÜÐüÍÛÛ¼Ûà µÛÛéÁõ¨ÛÛé …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûà Š¸ÛýÛÛéÜ•Û©ÛÛ ˜Û˜ÛÛë.  

 (¼Û) ÜÐüÍÛÛ¼Ûà µÛÛéÁõ¨Û – 20 (ÉÛéÁõþùà¥ø ïõ¾ÛÛ¨Ûà) ¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé.  

 (ïõ) ÜÈÛïõÛÍÛ ”Û˜ÛÙ¶Ûé ¾Ûæ¦øàïèõ©Û ïõÁõ©ÛÛ× ïõýÛÛ ¸ÛÜÁõ¼ÛÇÛé µýÛÛ¶Û¾ÛÛ× ÅÛéÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ?  

 

4. (…) …Ûé¦øà¤øá•Û¶ÛÛé …¬ÛÙ …Û¸Ûà, ©Ûé¶ÛÛ ÅÛ“Û¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 12 

 (¼Û) …Ûé¦øà¤ø¶ÛÛ ¾Ûä”ýÛ Š°éùÉÛÛé ˜Û˜ÛÛë. 

    …¬ÛÈÛÛ 

4. (…) …Ûé¦øà¤ø¶ÛÛ ÜÈÛÜÈÛµÛ ¸ÛóïõÛÁõÛé ›÷¨ÛÛÈÛà, ïõÛé̂ ¸Û¨Û ¼Ûé ÜÈÛÌÛé ÅÛ”ÛÛé.  12 

 (¼Û) …Ûé¦øà¤ø ïõÛýÛÙ’õ¾Û ©ÛíéýÛÛÁõ ïõÁõ©ÛÛ× ¸ÛÐéüÅÛÛ× …Ûé¦øà¤øÁéõ ïõˆ ¾ÛÛÜÐü©Ûà ¾ÛéÇÈÛÈÛà ›Ûé̂ …é ? 
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5. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ªÛ¨Û) : 12 

 (…) ¶Ûà˜Ûé¶ÛÛ¶Ûä× ÈÛÛŠ˜Ûá•Û ïéõÈÛà Áõà©Ûé ïõÁõÉÛÛé ? 

  (i) ¸ÛóÛ¬ÛÜ¾Ûïõ ”Û˜ÛÛÙ 

  (ii) ›Û×•Û¦ø ÈÛé̃ ÛÛ¨Û 

 (¼Û) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ”Û˜ÛÛÙ…Ûé¶Ûä× ¾ÛÐéüÍÛæÅÛà …¶Ûé ¾Ûæ¦øà ”Û˜ÛÙ¾ÛÛ× ÈÛ•ÛâïõÁõ¨Û ïõÁõÛé :  

  (i) ÁõÛéýÛÅ¤øà 

  (ii) ¾ÛäÍÛÛºõÁõà ”Û˜ÛÙ 

  (iii) ÍÛ×ÉÛÛéµÛ¶Û ÜÈÛïõÛÍÛ ”Û˜ÛÙ  

  (iv) ýÛ×ªÛÛé¶Ûà ”ÛÁõàþùà 

 (ïõ) ¶Ûà˜Ûé¶Ûà Ü¾ÛÅÛïõ©ÛÛé-þéùÈÛÛ×¶Ûà ˜ÛïõÛÍÛ¨Ûà ïéõÈÛà Áõà©Ûé ïõÁõÉÛÛé ? 

  (i) ÅÛé̈ ÛàÐæ×ü¦øà 

  (ii) ÍÛ×ÉÛÜýÛ©Û Ü¾ÛÅÛïõ©ÛÛé 

  (iii) ¸Ûé¤ø¶¤øÍÛÕ 

  (iv) ¼Ûêïõ ÜÍÛÅÛïõ  

 (¦ø) ïõÛé̂ ¸Û¨Û …éïõ ÜÈÛÌÛé ÅÛ”ÛÛé : 

  (i) ï×õ¸Û¶Ûà¶ÛÛ …Ûé¦øà¤øÁ¶Ûà ›÷ÈÛÛ¼ÛþùÛÁõà ›÷̈ ÛÛÈÛÛé. 

  (ii) ¶ÛÈÛä× …Ûé¦øà¤ø ÉÛÄõ ïõÁõ©ÛÛ× µýÛÛ¶Û¾ÛÛ× ÁõÛ”ÛÈÛÛ¶ÛÛ ¾Ûä°ùÛ 

 

6. ¼ÛÐäüÜÈÛïõÅ¸ÛàýÛ ¸ÛóÊ¶ÛÛé : (•Û¾Ûé ©Ûé ¸ÛÛ×̃ Û)  10 

 (1) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ÜÈÛµÛÛ¶Û ¸ÛÛ–Û¦øà¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé¾ÛÛ× ¶Û¬Ûà ? 

  (A) µÛ×µÛÛ¶Ûä× Í¬ÛÇ 

  (B) ¶ÛºõÛ¶Ûä× ¸Ûó¾ÛÛ¨Û 

  (C) •ÛóÛÐüïõÛé¶ÛÛé ¸ÛóïõÛÁõ  

  (D) ¼Ûêïõ¶Ûä× ”ÛÛ©Ûä× 
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 (2) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛÛ ¸ÛóéºõÁõÜ¶ÍÛýÛÅÛ ÅÛé̈ ÛþùÛÁõÛé ¶Û¬Ûà ? 

  (A) ÍÛÁõïõÛÁõ¶Ûé ˜ÛæïõÈÛÈÛÛ¶ÛÛ ïõÁõÈÛéÁõÛ (™öéÅÅÛÛ 12 ¾ÛÛÍÛ¾ÛÛ× ÅÛé̈ ÛÛ× ¬ÛýÛéÅÛ) 

  (B) ™æö¤øÛ ¬Û©ÛÛ× ïõ¾ÛÙ̃ ÛÛÁõà¶ÛÛé Áõ›Û¶ÛÛé ¸Û•ÛÛÁõ 

  (C) ÈÛà¾ÛÛ ýÛÛé›÷¶ÛÛ¾ÛÛ× ï×õ¸Û¶Ûà¶ÛÛé ºõÛÇÛé (™öéÅÅÛÛ 12 ¾ÛÛÍÛ¾ÛÛ× ÅÛé̈ ÛÛ× ¬ÛýÛéÅÛ) 

  (D) ïõ¾ÛÙ̃ ÛÛÁõà¶ÛÛé ¸Û•ÛÛÁõ (12 ¾ÛÛÍÛ …¬ÛÈÛÛ ÈÛÛÍ©ÛÜÈÛïõ …¬ÛÈÛÛ  ̀1,00,000 ¸Ûíéïõà ›÷é …Ûé™öÛ ÐüÛéýÛ) 

 (3) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛä× ÜÈÛµÛÛ¶Û ÍÛÛ˜Ûä× ¶Û¬Ûà ? 

  (A) …Ûé¦øà¤øá•Û ïõÇÛ …¶Ûé ÜÈÛßÛÛ¶Û ¼Û¶¶Ûé ™öé.  

  (B) …Ûé¦øà¤ø ïõÛýÛÙ …éïõ ÍÈÛ©Û×ªÛ ÈýÛÜî©Û ïéõ ¸Ûé§øà ³ùÛÁõÛ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé, ›÷é µÛ×µÛÛ ÍÛÛ¬Ûé 

ÍÛ×ïõÇÛýÛéÅÛÛ ÐüÛé©ÛÛ ¶Û¬Ûà.  

  (C) …Ûé¦øà¤ø …é ¶ÛÛêµÛÛýÛéÅÛÛ …ÛÜ¬ÛÙïõ ÈýÛÈÛÐüÛÁõÛé¶Ûà ©Û¸ÛÛÍÛ ™öé.  

  (D) …Ûé¦øà¤øÁéõ ï×õ¸Û¶Ûà¶ÛÛ ÜÐüÍÛÛ¼ÛÛé ÅÛ”ÛÈÛÛ¶ÛÛ ÐüÛéýÛ ™öé.  

 (4) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõˆ ½ÛæÅÛ ÜÍÛ±ùÛ×©Û¶Ûà ½ÛæÅÛ •Û¨ÛÛýÛ ? 

  (A) ¼Ûé ÈÛ”Û©Û ”Û©ÛÈÛ¨Ûà 

  (B) ïõÛé̂  ”ÛÛ©Ûé ”ÛÛé¤øà Áõïõ¾Û¶Ûà ”Û©ÛÈÛ¨Ûà 

  (C) ïõÛé̂  ÈýÛÈÛÐüÛÁõ ïõÛé̂  ”ÛÛ©Ûé ¶ÛÛêµÛÈÛÛ¶ÛÛé ÁõÐüà •ÛýÛÛé ÐüÛéýÛ 

  (D) ˜ÛæïõÈÛéÅÛ ½ÛÛ¦øÛ× …×•Ûé ¾ÛïõÛ¶Û ¾ÛÛÜÅÛïõ¶Ûä× ”ÛÛ©Ûä× ŠµÛÛÁõÈÛä× 

 (5) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛä× ÜÈÛµÛÛ¶Û ‘…Û×©ÛÜÁõïõ …×ïäõÉÛ’ ¶ÛÛé Ðéü©Ûä ¶Û¬Ûà ? 

  (A) ïõ¾ÛÙ̃ ÛÛÁõà ³ùÛÁõÛ ¬Û©Ûà ½ÛæÅÛÛé ÉÛÛéµÛà ïõÛ§øÈÛà …¶Ûé …¤øïõÛÈÛÈÛà. 

  (B) ïõ¾ÛÙ̃ ÛÛÁõà ³ùÛÁõÛ ¬Û©Ûà ™öé©ÛÁõ¸Ûá¦øà ÉÛÛéµÛà ïõÛ§øÈÛà …¶Ûé …¤øïõÛÈÛÈÛà. 

  (C) …éÈÛà ¸Û±ùÜ©Û …¸Û¶ÛÛÈÛÈÛà ïéõ ›÷é¬Ûà ÈÛÛÜÌÛÙïõ ÜÐüÍÛÛ¼ÛÛé ¡ö¦ø¸Û¬Ûà ©ÛíéýÛÛÁõ ¬ÛÛýÛ.  

  (D) •ÛóÛÐüïõÛé¶Ûé ¸ÛæÁõà ¸ÛÛ¦øÈÛÛ¾ÛÛ× …ÛÈÛ©Ûà ÍÛéÈÛÛ ïéõ ¾ÛÛÅÛ¶Ûà •Ûä̈ ÛÈÛ«ÛÛ¾ÛÛ× ÈÛµÛÛÁõÛé ïõÁõÈÛÛé.  
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 (6) ‘ÈÛé̃ ÛÛ¨Û ¸ÛÁõ©Û’ ¶ÛÛ ÈýÛÈÛÐüÛÁõÛé ¾ÛÛ¤éø ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛä× ÈÛÛŠ˜ÛÁõ ýÛÛé•ýÛ •Û¨ÛÛýÛ ? 

  (A) ¾ÛÛÅÛ …ÛÈÛïõ-¸ÛªÛïõ  

  (B) •ÛóÛÐüïõ ÍÛÛ¬Ûé ¬ÛýÛéÅÛ ¸ÛªÛÈýÛÈÛÐüÛÁõ 

  (C) ÈÛé̃ ÛÛ¨Û ½ÛÁõÜ©ÛýÛä× 

  (D) •ÛóÛÐüïõ¶Ûé …Û¸ÛéÅÛ ›÷¾ÛÛ Ü˜Û¥Õø¥øà 

 (7) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõˆ Ü¾ÛÅÛïõ©Û¶Ûé Ü¾ÛÅÛïõ©Û ïéõ ÅÛé¨Ûà Áõïõ¾Û •Û¨ÛÈÛÛ¾ÛÛ× …ÛÈÛ©Ûà ¶Û¬Ûà ? 

  (A) …•ÛÛŠ¬Ûà ˜ÛæïõÈÛéÅÛ ÈÛà¾ÛÛ ¸ÛóàÜ¾ÛýÛ¾Û 

  (B) ÁõÛéïõÛ¨ÛÛé ¸ÛÁõ ÅÛé̈ Ûä× ¬ÛýÛéÅÛ ¸Û¨Û ¶ÛÐüá ¾ÛÇéÅÛ ïõÜ¾ÛÉÛ¶Û ïéõ ÈýÛÛ›÷  

  (C) ¾ÛÛé¤øÛ ¸ÛÛýÛÛ ¸ÛÁõ ¬Û©Ûä× ÍÛ¾ÛÛÁõïõÛ¾Û …¶Ûé ¶ÛÈÛà¶ÛàïõÁõ¨Û 

  (D) …•ÛÛŠ¬Ûà ¾ÛÇéÅÛä× ½ÛÛ¦ä×ø 

___________ 
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Seat No. :  _______________ 
  

AM-126 
April-2015 

S.Y. B. Com. 

P-3 : Advanced Accountancy – III 

(Corporate Accounting & Auditing) 

 

Time :  3 Hours]  [Max. Marks : 70 

 

Instructions : (1) Right side digits show the marks of question. 

   (2) Show the calculation as the part of answer. 

   (3) Write answer to the point. 

 
1. The Balance Sheet of Pruthvi Trading Co. Ltd. as on 31-03-2014 is as under : 12 

Liabilities `̀̀̀ Assets  `̀̀̀ 

Paid up Capital :  Goodwill  2,25,000 

7500 shares of ` 100 each 

fully paid 

        

7,50,000 

Land & Buildings 

Plant & Machinery 

 1,80,000 

3,00,000 

Bank Overdraft 1,74,000 Stock  3,00,000 

Creditors 2,71,500 Debtors 3,00,000  

Provision for taxation 58,500 Less : B.D.R. 30,000 2,70,000 

Profit & Loss Appropriation 

Account 

       

1,71,000 

Bank Balance  1,50,000 

 14,25,000   14,25,000 

 Additional Information : 

 (1) The company commenced business on 30
th
 June, 1989 with a paid up capital of              

` 7,50,000. 

 (2) Profit & Loss earned during last five years before providing taxation have been as 

follows : 

Year `̀̀̀  

2009-10 60,000 (Loss) 

2010-11 1,84,500 (Profit) 

2011-12 1,95,000 (Profit) 

2012-13 1,32,000 (Profit) 

2013-14 1,74,000 (Profit) 

  (A) There was a long time strike during the year 2008-09 in the company. 

  (B) Income tax is to be paid at the rate of 50%. 
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 (3) The expected rate of return on capital employed is 10%. 

 (4) The present market value of Land & Building is ` 3,60,000. On the basis of this 

price you have to consider an additional depreciation of ` 30,000. 

 (5) During the five years the company is likely to save materials cost of ` 90,000 

Every year as per the contract made by the company. 

 From the above information you have to calculate the value of Goodwill on the basis of 

three years purchase of super profit of the company. 

OR 

1. The Balance Sheet of Jal Company Limited as on 31-03-2014 was as under : 12 

Liabilities `̀̀̀ Assets `̀̀̀ 

Share Capital :  Goodwill 65,000 

(A) 2,000 equity shares of ` 100 each 

fully paid up 

   

2,00,000 

Building 

Machinery 

80,000 

1,00,000 

(B) 2,000 equity shares of ` 100 each 

of ` 80 per share paid up 

      

1,60,000 

Stock 

Debtors 

2,00,000 

1,50,000 

(C) 1,000 equity shares of  ` 100 each 

of ` 60 per share paid up. 

   

60,000 

Cash 

Prepaid Insurance 

18,000 

2,500 

 General Reserve 70,000 Preliminary expenses 4,500 

 Profit & Loss Account 30,000   

 Creditors 50,000   

 Bank Overdraft 15,000   

 Liabilities for expenses 10,000   

 Depreciation Fund :    

           Building                     5,000    

           Machinery               20,000 25,000   

    

 6,20,000  6,20,000 

 Find the value of the company’s each type of Equity Shares by Net Assets Method. 

 (1) Goodwill of the company has been valued ` 80,000. 

 (2) Debtors are considered good except for ` 10,000.   

 (3) Normal expected return on capital employed is 10%. 
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 (4) The net profit of the company, for the last three years were as follows : 

Year 2011-12 2012-13 2013-14 

`̀̀̀ 1,00,000 1,30,000 1,20,500 

  Of which 20% was placed to General Reserve every year. 

 (5) Building has been valued at ` 1,00,000. 

 (6) There is a claim amounting to ` 25,500 and it has to be paid according to the 

settlement agreed upon. 

2. Vayu Limited went into voluntary liquidation as on 31-3-2014. Balance-Sheet on that 

date was as under : 12 

Liabilities     `̀̀̀ Assets `̀̀̀ 

2000 15% Preference Shares 

each of ` 100 

    

2,00,000 

Land & Building 

Plant & Machinery 

3,00,000 

2,30,000 

(A) 1000 equity shares of      

` 100 each fully paid up 

    

1,00,000 

Investments 

Stock 

70,000 

30,000 

(B) 2000 equity shares of       

` 100 each ` 50  paid 
per share  

      

 

1,00,000 

Debtors 

Cash on hand 

Profit & Loss Account 

50,000 

10,000 

1,10,000 

(C) 3000 equity shares of       

` 100 each ` 40  paid 

per share  

      

 

1,20,000 

   

 Less: Calls in arrears         

` 10 per share 

            

10,000 

   

1,10,000 

  

15% Debentures  2,00,000   

Outstanding interest on 

Debentures 

         

15,000 

  

Provident Fund  15,000   

Outstanding Salaries of three 

clerks for three months 

        

4,500 

  

Outstanding Income Tax :     

 2013 – 14 2,000    

 2012 – 13 3,500 5,500   

Creditors  35,000   

Bills payable  15,000   

  8,00,000  8,00,000 
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 (1) Assets were realized : 

Land & Buildings Plant & Machinery Investments Stock Debtors 

` 2,50,000 ` 1,35,000 ` 50,000 ` 25,000 ` 40,000 

 (2) The expenses of liquidation amounted to ` 5,000. Liquidators remuneration is 4% 

on assets realized by him and 2% of the payments to the unsecured creditors. 

 (3) Amount of calls in arrears on ‘C’ equity shares. 

 (4) All the payments were made on 30-06-2014. 

 Prepare liquidators final statement of Receipts and Payments. 

    OR 

2. (A) The Akash Commercial Bank Ltd. discounted on 01-01-2014. It’s customer bills 

for 4 months of ` 60,000. The bank charged discount at 15% p.a. The income on 

account of Interest and discount for the year 2013-14 amounted to ` 35,85,850. 6 

  Give the journal entries in the books of the Bank on the following dates for 

effecting the above mentioned transactions : 

  (1) On the date of discounting of the bills. 

  (2) On the date of Balance Sheet  

  (3) On the date of the collection of the bill.  

 

 (B) The Dharati Electricity Co. Ltd. re-built part of its works at a cost of ` 6,00,000. 

The original cost of the works superseded is ` 3,75,000. The cost of labour and 

material is respectively 10% and 20% higher now than when the old works were 

built. The proportion of labour and materials in works now and then is 3 : 2. Sale 

of old materials realized ` 45,000 and old materials valuing ` 22,500 are used in 

the new construction and it is included in the above mentioned cost of ` 6,00,000. 

  Draft the necessary journal entries in the books of the company. Show necessary 

calculations . 6 
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3. From the following information of Agni Electric Supply Company, prepare Capital 

Account and General Balance Sheet as on 31-03-2014 as per Double Account System. 12 

Particulars `̀̀̀ Particulars `̀̀̀ 

Authorised capital 9,00,000 Expenditure upto 31
st
 March, 2014   

Paid-up Capital 7,80,000 Land 36,000 

12% Debentures 1,20,000 * Mains and Transformers 4,05,000 

Business Creditors 48,000 * Machineries 1,20,000 

Reserve Fund 45,000 * Buildings 39,000 

Business Debtors 1,14,000   

Cash and Bank Balance 1,03,000   

Investments of Reserves 45,000   

Stock 74,000   

 During the year ended on 31-03-2014 there was increase in above last three items of (*) 

` 75,000,  ` 75,000 and  ` 30,000 respectively and Renewals Fund ` 75,000 was 

created. Balancing figure is to and be considered as Profit of the company. 

OR 

3. Write answer (any two) : 12 

 (A) What is Accounting Standards ? Discuss its utility. 

 (B) Explain the Accounting Standards – 20 (Earning per share) 

 (C) Which factors consider to capitalization a Development expenditure ?  

 

4. (A) Give meaning of an Auditing and explain its characteristics ? 12 

 (B) Discuss main objectives of an Audit. 

    OR 

4. (A) Write various types of Audit and discuss any two. 12 

 (B) Which information should be collected by an Auditor before commencement of 

audit programme ? 
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5. Write (any three) : 12 

 (A) Vouching the following : 

  (i) Preliminary expenses 

  (ii) Sale of return 

 

 (B) Classify the following Capital and Revenue Expenditure. 

  (i) Royalty 

  (ii) Travelling expenses 

  (iii) Research development expenditure 

  (iv) Purchase of machinery 

 

 (C) How you make verification and valuation of Assets and Liabilities ? 

  (i) Bills Receivable 

  (ii) Contingent Assets 

  (iii) Patents 

  (iv) Bank Balance 

 

 (D) Write (any one) : 

  (i) State the responsibilities of a company Auditor. 

  (ii) Which points should be considered to commencement of new Audit ? 

 

6.  Multiple Choice Questions : (attempt any five)  10 

 (1) Which of the following factors are not affecting the value of Goodwill ? 

  (A) Location of Business 

  (B) Proportion of Profit 

  (C) Types of Customers 

  (D) Bank Accounts 
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 (2) Which of the following is not Preferential Creditors ? 

  (A) Amount payable to Government (payable within last 12 months). 

  (B) Accrued holidays remuneration to employees. 

  (C) Contribution to ‘Employees State Insurance’ (payable for last 12 months). 

  (D) Salary of an employee (12 months or Actual or ` 1,00,000, whichever less). 

 

 (3) Which of the following statements is not correct ? 

  (A) Auditing is both an Art and a Science. 

  (B) The Audit work is carried out by an independent agency which is not 

connected with the business. 

  (C) Audit is the examination of recorded transaction. 

  (D) Auditor has to write Company’s Account. 

 

 (4) Which one of the following is an error of principle ? 

  (A) Double Posting. 

  (B) Posting wrong amount to an account. 

  (C) Omission to post to an account. 

  (D) Debiting Landlord’s account for payment of rent. 

 

 (5) Which of the following is not one of the objects of ‘Internal Check’ ? 

  (A) Detection of errors committed by the employees and prevent them. 

  (B) Detection of Frauds committed by the employees and the prevent them. 

  (C) Adoption of accounting system leading towards preparation of final 

accounts without  delay.  

  (D) Improvement of quality of goods/services provided to the customers. 

 



AM-126 16  

 (6) Which of the following is a relevant voucher for vouching of transaction of Sales 

Return ? 

  (A) Goods received note 

  (B) Correspondence to customer 

  (C) Sales invoice 

  (D) Credit note issue to customer 

 

 (7) Which one of the following is not considered a part of outstanding Assets or 

Amounts Receivabl ? 

  (A) Insurance premium paid in advance. 

  (B) Interest or commission on investments due but not yet received. 

  (C) Repairs and renewals on large scale. 

  (D) Rent received in advance. 

 

__________ 


